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— Nnoya lopiona RIRR I
I might have said that they divide the 7x17 with just a o202,

OVERVIEW

The X713 stated that (according to the 7"7» that 7% nn is a wall) if the 71wn would
have written 1MX 1112 instead of “M>7 nX 113, T would have thought that it meant
merely with a 09°0n. It is not clear what the X means by this. Seemingly it
means to say that they would be required to divide the 7% with only a 05°0n.
However this presents a difficulty. A 09°0n, as >"wA points out, and as is evident
later in the X773, is the minimal division between two properties. If the Pomw
agreed to divide, that implies that they agree to a 09°07; how else can they divide?!
Why would the 71wn need to tell us that they are required to build a ©09°01n? On
account of this difficulty, >"wn offers a novel explanation. n1do1n will offer his
explanation first, then cite s""®w" interpretation and reject it.

— DOYDNN NPT IN 219
The explanation of the s'®7) response 05°0n2 X" means that when the mawn»

states '1x°' they wanted, it is referring to a 09°07; they agreed to build a divider.?
There is no need to agree to divide, since it is a P21 1°7 72 oW J30.

mooIn anticipates a difficulty with this interpretation:
— 0N H¥a DOYDN PPYIY ) INI INDAT 2) DY GN)

And even though that if they did not agree to build a 02°0n they can still be

forced to build a 05°07 by either party -
— 09012 XD U152 IND YNNI S9INRPT 4710 NOMTI

As is evident shortly for the X713 says; does that not mean a wall; that they
divide by making a wall? To which the X713 replies no; it refers to a ©2%01. They
divide the 7¥n with a 09°0n. It is evident from that X7n3x that each partner can coerce the other to

divide and build a 09°0n. How can the X3 have a XI'»X M that they need to agree to build a
09°0n!

I A oo0n is some type of demarcation between adjoining properties. The actual meaning of a ©9°07 in this X3 is a
point of contention between >"1 and our NN
2 mpoIn is rejecting s"wA interpretation that %7 refers to 7p17m. See our M2ON later.
3 It would be difficult to interpret N9 literally; that they agreed specifically to build a 02°0n. If that were the case,
then even according to the X3pon they would only be obligated to build a ©09°0» not a ?m>. Rather, 19010 may mean
that they agreed to build a n¥°nn, without specifying whether it is a 2m> or a 0o0n.
4 See the X3 further on this T1y.
3> The ®7n3 inferred from a later 71wn that if there is a 712 177, then one can coerce the other to divide.
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moon answers: When that Xn3 states that they divide 09°0m2 —
—¥9) 92201 N

That means an inferior ©299%; a 0>°0n of inferior building materials, such as wood, etc.;
that type of 09°0n one can coerce his neighbor to build jointly at their common border when they
divide -

— %1191 X123 NN DN DOYDN PYIY INI v VAN
However when they want and agree to build a divider; which is the case the 71wn
is discussing (according to this XX 717), then they are required on the insistence
of either partner to build a o272 from either "3 or n as is the custom of the
country.

How is this n°13 9 09°0n distinguishable from a n°t 9711 90152 MooIn explains:
— 7PN PN 1932 9N TI¥ WIDTI MNYN NIN NINY 29Y 09501 9910

And it is called a 09°0n, even though it is built from nta1 >, for this 09°0n wall is full
of windows as the 719¥ explains and this 05°01 does not protect one from P77

7R since it is full of windows. This distinguishes it from a >m> which is a solid wall and
protects from 7°X7 P77.

n19oIN offers an alternate difference between a 05°0n and a 7012
— 1098MY 7101 M) 222 Y1NIPY NOINTI ¥/ 113X 1INRY 29D 1) N

Or you may also say that it is called a ©9°07, even though it is built with n a1 3,
because it is not ten 2°now high, as is evident later in the X712 concerning a roof

adjacent to a [»] (9%17). Concerning which -
— 79 192) NPYN I NWIY 1IN 29 9INT

1 ' said, he is required to make a (protective) fence ten 2°175v high -
— 1150 09012 2395 VANMY N 13°¥2 MNN 7T NN PINY IN INIY 79999

And the X723 challenges m1 '; what is the purpose of this fpyn!? if it is to
prevent X7 P11 from one roof to the other we require a wall that is four mnx

 mooin is introducing us to a new type of ©9°0n. It is a ©9°0n wall built from n 1 1. This type of 09°0n cannot be
built by coercion; rather they both have to consent to build it.
7 This would fit in well with this 7"» that %> means a wall; and also maintains that P maw X2 X1 pria. The
n1wn, if it would have stated 1R 1113, would be teaching us a different w17°n than it is currently teaching us. Even if
they both agreed to build a 1¥°rn, nevertheless they are only required to build this 09°0% from 0>t 51, even though
it will not protect them from X1 pr>n. The Xipon is however, that since the 7awn does state M7 DX 113, that
teaches us that even if they agreed to build a 17¥n without specifying whether it is a 0901 or a 3, nevertheless
they have to build a 5013, even though P11 7Pnw X7 7°87 pri. See “Thinking it over” # 1.
8 For a wall to be considered a “m> it needs to be at least ten 2°nu high. Less than ten 2°19v is called a 05°0n
93,197
10 The gloss amends 937 to A3, [7Pyn should then be amended to A% M. X33 w"»y.]
' See ‘Thinking it over # 2.

2

TosfosInEnglish.com



mnaa"7'0:n 2,22"2.7"02

high, not ten o°nov and if the purpose of the 7pyn is to divide the roofs so if one
trespasses into the other’s roof he will be caught and deemed to be a thief, then a

05°0n is sufficient for that purpose. We do not need a 7pyn of ten oonov. It is obvious from
that X773 that a 09°0n is less than ten 0°190 high.

According to mpdoIn there are three types of walls relevant to our discussion. 1. A 173 09°0n
made up of inferior materials, 2. A regular 02°0n made of n ) 93 that is either a) full of
windows, or b) lower than ten a’19v. 3. A solid wall four n»& high. The X 13 says that if the 71wn
would have stated "mX 1112 21 Pomws’ instead of 2M37 nX 1112, I would have understood the
mwn to mean as follows: Once the Pomw [divided (2"va), and] agreed to build a divider,'? they
must follow the 371 and build a ©9°0n of 121 N°13 913, but are not required to build a wall.

moon will now cite s™"w1 interpretation and reject it:
— NP NPIYNN NPT INT 1Y D9VP

And °"v explained that according to this X"7: that the word 129" ‘they wanted’

that the 71wn states is referring to the division of the 9zn. Our MmooIn understands >"wA
as follows: The mwn is now discussing ([even] according to the 7"» that %7 is a wall) a %0
7121 17 72 PRY. The Ponmw agreed to divide this 2%r. Once the Ponw agreed to divide, they can
be coerced to build a ©9°0n but not a M2 (presumably since P17 7AW K7 7RI PIO).

nvoIN asks on °"wA:
— 18555 592511 MYND RNNID INT XTI 13990 NNINNT PYON NNT N1

And this interpretation is astounding! for the X7n3 just concluded that the word
'mxonn' in the 7w»n means a wall (according to this 1Y), for if the word 7%
would mean a division, then the 71w should have stated n2r® not 7xnn mwys.

mooIN now questions the supposition that a ¥173 ©9°0n would be sufficient, since it says 1N and
not 7.
— NNIYYA 0950192 NININ MINT 91351 581 1350 NI

And furthermore, how can the X7n) say that I may have thought (if it would

say 1M and not 9n1D) that the divide merely with a ©2°0% and not with a wall —
— Y9N JNIN MIND IPPON DIXYY DNIVY 10T YN 2INDT 5RYOM 1YY 11IPNY NN

But we know this from the 820 of our 71wn, which states: However if they both

12 See footnotes # 3 & 7.
13 See ma "7 2"wn.
14 The opinion of this W% is that the word 7%’ cannot mean a division; it can only mean a wall. How can we now
say that if the m1wn would not say ?m>, T would think that 7%>m» Mwy? 17w means they want to divide?! Whether the
W writes PM3 or 1R cannot change the meaning of 7x°mn.
15 x,%° 77. The m1wn states that if the 737 is less than NMMX 17 we cannot divide it 2"va.
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want to divide even if the %7 is less than eight nnX, they can divide. What is the

meaning of this division? How will it be apparent that the 7xr is divided?
— 09012 MNAN Y3V 1M

This obviously means that they will divide the %17 at least with a ¥172 ©950%2. Why
then would our 713wn have to tell us the same 1°7 again that they divide a 7Y% 1°7 72 PRY 781 with
a 0o»on?

mooIn asks a final question on *"wA
16:95939 5151) 12235192 NP NITNA RN NNYYA DIYDNA 91919D 281 NN NI N

And in addition, how can we have thought that if the 71wn would say “MK', we
would divide only with a mere ©2°0%, which according to "w7 means small pegs,
but the mwn clearly states that you must build it with D931 %93, n°my 9 are certainly

SUMMARY

»"w1 and Moo differ as to the explanation of X17¥2 09°0nHa R™.

nBoIN introduces two types of 0901, A ¥173 09°0n is made of inferior materials.
The o901 discussed here is a wall made of n°13 2°13; either with many windows or
a wall less than ten 2°mdu (either case cannot protect from %71 pri). The
explanation of the X3 is as follows: We are discussing a 7p1717 1°7 12 w°w 2%n. The
omw divided the (9"v2) 7x¥n. They agreed to build a 7% . If it would say 7112
MY, I would have thought that we can only obligate the partner to build a 09°07 of
n°T3 921, but not a 0.

*"v7 interprets the X713 as follows: The 71wn is now discussing a 1°7 712 PRY X7
712n. The pomw agreed to divide this 7%, Once the oMW agreed to divide, they
can then be coerced to build a 09°0% but not a >n>.

Moo poses three difficulties with this interpretation:

1. How can 17¥°nn meant to divide according to this 1.

2. We know from the following 71wn that if 7amw divided a 1"7 72 PRW ¥, that
they build a 09°0n. Our 71wn is superfluous.

3. How could I have thought that they build a ©5°0% (of pegs) when the 71wn clearly
states Nt M.

THINKING IT OVER
1. According to n1o1n which would be the greater w17 n; if the 7i1wn would have
written 1R and it would mean a ©9°07 or the mwn writing ?M> and meaning a

16 For a clarification and defense of >"w1 see 1"2n7 (explained in 1% NIX 717 N210).
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5ma2t7

2. What proof is there from jnm1 27 that a regular 09°0n is less than 2BV "?
Perhaps the X713 there is referring to a ¥173 09%01?'8

3. Usually m»ooin cites s™"wA interpretation first, refutes it, and then presents his
own interpretation. Why did this n1901n present his interpretation first?

4. Why would >"w1 not agree to M0 interpretation?!”

17 See footnote # 7.
18 See footnote # 11.
19 See (o w1P 7'72) A",
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